Ratio

fe) =
] E
= L.
2 L
S
102
107

SICEWATL

o p/p.)

=
<

a(d cot(d))

=
<

1T uy 9
S
_____________________ 14
0.Bf--remrerenene ] S A EEEN EE PEEPPE PPEEPREPPRS i R SRR & o SPPEE P PPPRRPPRS
-1 2 3 -1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)
—=— DQM_mkFit_TToriginal
—— DQM_mkFit_TTNEWnoMS-genMatch-CUT
£ : 5
e Moo [ARE R prTTyTTTITreeeseees
S e Tl b
o T
5 :

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

M Y 1O YY1 Y T T
10 t102 - 10°
TPp, (PCA fo'beamlinég



	Contents
	Page 1


